Titration
A lab process in which a known concentration of an acid or base is used to determine the unknown concentration of another acid or base solution.
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sometimes this equation is written as
(#H+)MAVA = (#OH-) MBVB

When 50 ml of an HNO3 solution is exactly neutralized by 150 ml of a 0.5M solution of KOH, what is the concentration of HNO3?
Ma= ?			MB=0.5M
Va=50ml 			VB=150ml

Ma(50ml) = (0.5M)(150 ml)
Ma=1.5M
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MV, =MV,

M, = molarity of H*

V4 = volume of acid

Mp = molarity of OH~

Vg = volume of base
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A titration setup was used to determine the unknown molar concentration of a solution
of NaOH. A 1.2 M HCl solution was used as the titration standard. The following data were
collected.

Trial1 | Trial2 | Trial 3 | Trial 4
Amount of HCI
Standard Used 10.0mL | 10.0mL | 10.0 mL | 10.0 mL
Initial NaOH 00mL | 122mL | 232mL | 352 mL
Buret Reading
Final NaOH
Buret Reading 122mL | 232mL | 35.2mL | 47.7 mL

71 Calculate the volume of NaOH solution used to neutralize 10.0 mL of the standard HC]
solution in trial 3. Show your work.  [2]
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- What is the molarity of an HCI solution if 20.
‘millliters ofthis acid is necded to neutralize 10.
‘milllites of 0,50 M NaOH solution?

A 10M B) 075M
© 050M D) 025M

- How many milliliers of 0600 M H3S04 are
required to exactly neutralize 100, mililtes of

0.300 M Ba(OH)2?
A) 250mL B) 50.0mL.
© 100.mL D) 200.mL.

- How many milliliers of 0010 M NaOH are required
10 exactly neutralize 20,0 milllters of 0.020 M

Hew
A) 10.mL B) 20.mL
© 30.mL D) 40. mL.

- Given the reaction:

2 NaOH + HS04 45 NasSO4 2 10
How many milllters of 1 M NaOH are needed to
exactly neutralize 100 milliliers of 1 M H:SOR
A) soml B) 200ml

© 300mt D) 400 ml

- Information elated 10 a titration experiment s given inthe balanced cquation and table below
5804 (nq) + 2 KOH(nq) — K304 (aa) + 2 H;0()

Titration Experiment Results
Volume of H,S0,(nq) wsed | 12,01l
concentration of HySO,(aq) | 7

vohume of KOH(aq) used | 36.0
concentration of KOH(aq) | 0.16M

Based on the cquation and the tiration results, what is the concentration of the 1,504 (a2
A) 0120 By 0.16 M © 0200 D) 0.96 M
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